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| Time: 10 Minutes | Paper Math 8(T-1) |  Total Marks: 10

| 4th Month, 1st Week, 2nd Day | Exercise 2.5 Complete |

Q.1. Choose the correct options. 1x2=2) - /..,«l’s'“'lgylﬁ://)
() Add 1+2x+3x%,3x—4-2 X JE
@] x+5x-3 |[0)| 22-3x+4 |(©] 4x*-3x+2 |(@)| x2+4x+3

(i) Sabtract P from Q JSI P P Q

P=3x+5x+2x*-x, Q=dx*+2x* +x* —x +1

xX2x2+2 || x*-2x>-2 [(@©] x*—4x*+1 [@)] x*+4x*+2

(a

-’

¥ Answer the following questions: 2x4=8) - A,«I:ZLQUVJ“ 31O%)
Q.2. Find the value of x — 2y + 3z = Q, where x =2a2 — a3+ 3a + 4,y =2a° -
3a2+2-2aandz=a'+3a’— 6—5a’
zix=2a%—ad+3a+4,y=2a -3a2+2-2a Sy ped I x - 2y + 32 =
—n=a*+3a3_ 6 5a°
Q.3. The sum of two polynomials is x? + 2x — y2. If one polynomial is x? — 2xy
+ 3, then find the polynomial.
_Q:/(r}""gf/u}”yixz —2xy + 3‘?//?(.;?/’7‘&)(2 +2x— yzi}fgu;};/f?g)
Q.4. What should be added to 4x3 — 10x2 + 12 x + 6 so that it becomes exactly
divisible by 2x+1?
gy 122 B — 1052+ 12 x + 6
Q.5. For what value of p the polynomial 3x3 —7x — 9x+p becomes exactly

divisible by x — 3?

_n(.."ﬁl./zb{/?x—3£3x3 X2 9xtp AL LSS P
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